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Solve each problem.

1) Luke had 664 baseball cards in 4 binders. If each binder has the same number of cards,
how many cards are in each binder?

2) There are 969 people attending a luncheon. If a table can hold 3 people, how many tables
do they need?

3) Edward has to sell 216 chocolate bars to get a prize. If each box contains 9 chocolate bars,
how many boxes does he need to sell?

4) An industrial machine made 504 shirts. If it made one minute to make 3 shirts, how many
minutes was it working?

5) Cody had 848 pieces of candy. If he split the candy into 4 bags with the same amount of
candy in each bag, how many pieces would each bag have in it?

6) Katie is making bead necklaces. She has 992 beads and is making 8 necklaces with each
necklace using the same number of beads. How many beads will each necklace use?

7) An architect was building a hotel downtown. He bought 780 lamps to put in the rooms. If
each room gets 5 lamps, how many rooms does the hotel have?

8) Lana uploaded 880 pics to Facebook. If she put the pics into 5 albums with the same
number of photos in each album, how many photos were in each album?

9) Sarah had 590 quarters. If it costs 2 quarters for each coke from a coke machine, how
many could she buy?

10) Tiffany received 264 dollars for her birthday. Later she found some toys that cost 4 dollars
each. How many of the toys could she buy?
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1) Luke had 664 baseball cards in 4 binders. If each binder has the same number of cards,
how many cards are in each binder?

2) There are 969 people attending a luncheon. If a table can hold 3 people, how many tables
do they need?

3) Edward has to sell 216 chocolate bars to get a prize. If each box contains 9 chocolate bars,
how many boxes does he need to sell?

4) An industrial machine made 504 shirts. If it made one minute to make 3 shirts, how many
minutes was it working?

5) Cody had 848 pieces of candy. If he split the candy into 4 bags with the same amount of
candy in each bag, how many pieces would each bag have in it?

6) Katie is making bead necklaces. She has 992 beads and is making 8 necklaces with each
necklace using the same number of beads. How many beads will each necklace use?

7) An architect was building a hotel downtown. He bought 780 lamps to put in the rooms. If
each room gets 5 lamps, how many rooms does the hotel have?

8) Lana uploaded 880 pics to Facebook. If she put the pics into 5 albums with the same
number of photos in each album, how many photos were in each album?

9) Sarah had 590 quarters. If it costs 2 quarters for each coke from a coke machine, how
many could she buy?

10) Tiffany received 264 dollars for her birthday. Later she found some toys that cost 4 dollars
each. How many of the toys could she buy?

Answers

1. 166

2. 323

3. 24

4. 168

5. 212

6. 124

7. 156

8. 176

9. 295

10. 66

1-10 90 80 70 60 50 40 30 20 10 0


	Worksheet
	Answer Key
	Modified Worksheet

